Honors Bio: Dihybrid Cross Practice

Name _________________________ # ____
In mice, the ability to run normally is a dominant trait.  Mice with this trait are called running mice (R).  The recessive trait causes mice to run in circles only.  Mice with this trait are called waltzing mice (r).  Hair color is also inherited in mice.  Black hair (B) is dominant over brown hair (b).  For each of the following problems, draw a Punnett square in the space provided and fill in the information on the indicated lines.

1.  Cross a homozygous waltzing, homozygous brown male mouse with a pure (breed) running, pure black female mouse.

Parental Genotypes (P1):  ____________________________________
Possible Gametes from male: __________________ Gametes from female ______________

Show Punnett square of F1 generation:

Ratios of Genotypes of offspring: _______________________
Ratios of Phenotypes of offspring:_______________________

NEXT: Cross 2 mice from the F1 to get the F2 generation: 

Parental Genotypes (P1):  ____________________________________
Possible Gametes from male: __________________ Gametes from female ______________

Show Punnett square of F2 generation:

Ratios of Genotypes of offspring: ___________________________________________________
Ratios of Phenotypes of offspring:__________________________________________________
